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V Semester B.Com. Examination, March/April

(CBCS) (2016 - 17 and Onwards) (F+R)
COMMERCE

Paper - 5.5 : Elective Paper - I : lnternational Financial

Time : 3 Hours Max. Marks : 70

lnstruction : Answer should be eomptetely written either in English
or in Kannada.

SECTION - A
Sqail - * I

1. Answer any five questions. Each question carries two marks. (5x2='!0)

dqind oJnfide Ecat d#eri erudon $scoocb dd"cr" addr eoddddldnoorJ:dd.

a) What is Wealth Maximisation ?

iodd: rlo.t*eddeo aodded: r

b) DifferentiatB between accounts receivable and accounts payable.

*rdre andriq;b d:d: and8iud:erod arodrl$ dd>ed drorXdd:o udos:o.

c) What is perfeCt capital markets ?

do{Brar uodaa$ d>d:do3*aodde$ t
d) Write any four examples of capital budgeting decisions.

uodaaS C::orld dgd De6ro$d N?q) eruoadddo$q udomo.
rd

e) Define bugjness finance.

aar;md deaeandl m, a:o, O&.

0 What is meant by busines:s valuation ?

a-gtuC d$ordnddd efirded: ?

g) Give the meaning of Financial Risk.

uQrd era?o$d efir aodded: ?
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SECTION _ B
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Answer any three questions. Each question carries six marks.

ddnd o3ndtde d]rocb $d/ert w$o:r. de dd.,oJr" 
qrcb eoddddldooo$gd.

2. Discuss brietly the objectives of Financial Management.

dra+a-,.,: &dr d# o$ w {eddddl ioffi aa n adotu.

3. Explain the importance of working capital in business.

{daa ddO_ ebc o1>rd ucdam dd abddd ddl edotu.

What is capital rationing ? Explain the factors determining capital rationing.

e^lodaad .lc:o$m aodded: ? z;odood &o3:o$eadd:, nfrro-*:d eoddddl ado:r.

"Cost of debt is lower than the cost of equity share capital". Give reason why

even then a company cannot work only with the debt'

"Fasd d?3rjd .*'%ffi ded: a:odaadd dCrrs*od dadJcsnd ". benddo dede;

xa e.:dn o ori dodO c1:: a-o o3: r R d r bie.:: s dad:d dE* aa dra n ea.
i

6. A firm has initial investment of t 25,00,000 and cash inflows as shown below :

(3x6=18)

4.

5.

2 4,00,000

3 , 3,00,000

4 1,00,000
*t

Find out NPV.

uoei dod esdozpd uodaad { 25;00,000 c>4 ddc> uddo$ dr ddndo8d :

-)-)- 
JJJr - :J-)oJcJdlF Nrlq! .,.V€Pv%f &.s. Fo$d.rd @ 1A%

, 0.909

Year

1

Cash inflow
5,00,000

5,00,000

4,00,000

3,00,000

1,00,000

P.V. factor @ 19"/"

0.909

0.826

0.751

i 0.683

0.826

0"751

CI.683

1

Z

J

4

d&d e{d dF orddl doC>Aaoe.:o.
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SECTION _ C
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Answer any three questions. Each question carries tourteen marks. (3x14=42)

Ednd od>$de dlJa& d#eri w$0x,. -,,.9e dd.o$" o oa e.::* er odrlddl dlo o a d:d d.

7. Critically evaluate "Frofit Maximization and Wealth Maximization" as two
important objective of Financial Management.

dea*at'o DdrddoJ: add: dCra) en:{eddsnd "$aal do-.r$n*-^cad #od: srn
,Js,J.P^""Jr"r{ " ia-l z?aJ-i. -r-l.s-lJ-h q=Qo e.9. o 1*Aq\FI IUOslI Uv'rl^l/cro c{crll l.t'G.IJ c^JC^AJc./crf iruc^Jq,/t I c^./c.r\e^i^J *'--r'-n-^r,.J.-4O^D

L Explain various tools and techniques used for inventory management.

6rFDd) edrddo$ ddsd$b d;d: #de"dd$ adoa.3-a-od'4

9. What is Risk Management ? Explain different types of risks in the context of
I nternational Business.

od* &drdd *odded: ? eoddo.?Ueo$ a-gaaddO-udgd aad {mddddladoa.

10" Explain the techniques are used to ascertain the risk in capital budgeting
decision. !

,-*odmd C::orid dgd OearcJ:d0d;d ermo$ alzsd#c,qrdradou: c1>d do$ddd1

ud-r*:ed. ioSdmfl ado&.

11. The following data are available in respect o{ 2 firms, calculate average cost
of capital and comment.

i

Net ooeratino income
F'1

lnterest on debt

Equity earnings

Cost of equity share capital

Cost o{ debt

Market value of equity share

Market value of debt

Total value of firm

Firm A
1

T 5,00,000

NIL

{ 5,00,000

15%

NIL
' { 20,00,000

NIL

{ 20,00,000

Firm B
T 5,00,000

T 50,000

{ 4,50,000

15"/"

1A%

{ 14,00,000

{ 4,00,0CI0

T 18,00,000
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di Eddod dnagog:od add: dodpoS: e*Ea:"ruod6aseddra dod:aacr:o d:d: eJdsd

o r*nlrAwvwv.

e*d m C> rz3ddo$ er.iD od)

sae.rd$d uq
mdnd, e:6"oiJ

xadnd, de& uod;soqeddra Cd

xaod$d uodaaqeddm dd

;ndnd, ded: dn&do,fo3: aid/Ne,
a-a e.:d$ d *a d>d{c1> CeJ/ # e,

u[^D*dod..r&oJ: dfJe,

dod$ A

{ 5,00,000

NIL

T 5,00,000

15%

NIL

{ 20,00,000

Nll_ ,

{ 20,00,000

dodO B

{ 5,00,000

t 50,000

T 4,50,000

15%

1AY"

{ 14,00,000

{ 4,00,000

T 18,00,000
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